
PRACTICE SET -1



In the following question, a sentence is given with four words marked 

as (A), (B), (C), and (D). These words may or may not be placed in the 

correct order. Four options with different arrangements of these words 

have been provided. Mark the option with the correct arrangement as 

the answer. If no rearrangement is required, mark option (5) as your 

answer.
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One student took a relaxed(A) approach to finish(B) the 

test while the other was more feverish(C) than 

frenzied(D).

1. A-D

2. B-C

3. C-A

4. D-B

5. No change required
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For a month now, an unknown(A) superhero has 

danger(B) swooped through the city streets saving(C) 

people from mysteriously(D).

1. A-C

2. B-D

3. C-D

4. D-A

5. No change required
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Rakesh is going to hire(A) a packing company to 

move(B) his family’s facilitate(C) so his pregnant wife 

will not have to exert(D) herself.

1. B-C

2. D-A

3. A-B

4. C-D

5. No change required
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Given below is a word, followed by three sentences that consist of that 

word. Identify the sentence(s) that express(es) the meaning of the 

word.
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PARTY

A. His party won a landslide victory in the elections.

B. Let's have the party at my house.

C. We are still seeing a party between men's and women's 

salaries.

1. Only A

2. Both A and B

3. Only B

4. Both A and C

5. Only C
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AGAINST

A. They against new clothes for the children in the orphanage.

B. We played cricket against a school from another district.

C. Take these pills as a precaution against malaria.

1. Only A

2. Both A and B

3. Only B

4. Both B and C

5. Only C
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In the following passage, some words have been deleted. Fill in the 

blanks with the help of the alternatives given. Select the most 

appropriate option for each blank.
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Two decades apart, India again ran into Australia in a World Cup final and the result was the same. 

In the 2003 edition’s climax at Johannesburg, Ricky Ponting’s men were an ___(1) opposition. The 

latest summit clash at Ahmedabad’s Narendra Modi Stadium proved no different as Pat Cummins 

and his men remained equally ___(2). In both championships, the force seemed to be with India 

until the final hurdle. Sourav Ganguly then, Rohit Sharma now, are the anguished captains. The 

Men in Blue were in terrific form all through this World Cup, the batters and bowlers had this aura 

of ___(3), 10 matches were won on the trot and even Australia was vanquished in the early part of 

the campaign. To defeat all rivals in a round-robin league phase reflected India’s ___(4) but as 

Australia showed yet again, finals of multi-team ICC events throw up unique challenges. The men 

from Down Under have now won six World Cups and Cummins, their current skipper, has grown in 

___(5). Sunday’s final on a sluggish pitch with dry spots affected India’s free-flowing batters. Even 

if Rohit, Virat Kohli, and K.L. Rahul scored, the others found their timings going ___(6). A total of 

240 was not enough to test the Australians later at night especially with the dew kicking in.
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Two decades apart, India again ran into Australia in a World Cup 

final and the result was the same. In the 2003 edition’s climax at 

Johannesburg, Ricky Ponting’s men were an ___(1) opposition. 

Select the most appropriate option to fill in blank number 1.

1. Abjuring

2. Dumpling

3. Abnegating

4. Overwhelming

5. Criticizing
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The latest summit clash at Ahmedabad’s Narendra Modi Stadium 

proved no different as Pat Cummins and his men remained 

equally ___(2).

Select the most appropriate option to fill in blank number 2.

1. Indomitable

2. Weak

3. Submissive

4. Jeopardy

5. Vigorish
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The Men in Blue were in terrific form all through this World 

Cup, the batters and bowlers had this aura of ___(3), 10 matches 

were won on the trot and even Australia was vanquished in the 

early part of the campaign. 

Select the most appropriate option to fill in blank number 3.

1. Invisible

2. Inability

3. Amiability

4. Hostile

5. Invincibility
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To defeat all rivals in a round-robin league phase reflected 

India’s ___(4) but as Australia showed yet again, finals of multi-

team ICC events throw up unique challenges. 

Select the most appropriate option to fill in blank number 4.

1. Emergency

2. Consistency

3. Complacency

4. Diffidence

5. Redundancy
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The men from Down Under have now won six World Cups and 

Cummins, their current skipper, has grown in ___(5). 

Select the most appropriate option to fill in blank number 5.

1. Stature

2. Rupture

3. Disrupt

4. Severe

5. Feud
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Even if Rohit, Virat Kohli, and K.L. Rahul scored, the others 

found their timings going ___(6). A total of 240 was not enough 

to test the Australians later at night especially with the dew 

kicking in. 

Select the most appropriate option to fill in blank number 6.

1. Consistent

2. Aligned

3. Awry

4. Contented

5. Jovial
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In the following question a sentence is divided into four parts. Find out 

which part of the sentence contains an error. If there is no error in the 

any part of the sentence, mark option 5 i.e. 'No error.' Ignore the error 

of punctuations, if any.
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Never embark on (A)/ what comes after (B)/ without having 

master (C)/ what goes before.(D)/ No error (E)

1. A

2. B

3. C

4. D

5. No error 
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It's discourteous to (A)/ assume that we're so (B)/ dull that we 

would not (C)/ make these decisions ourselves.(D)/ No error (E)

1. A

2. B

3. C

4. D

5. No error 
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My colleagues in (A)/ India are excited (B)/ about to vote in the 

(C)/  next presidential election.(D)/ No error (E)

1. A

2. B

3. C

4. D

5. No error 
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Twenty five out of(A)/ twenty six candidates(B)/ have passed(C)/ 

and one failed.(D)/ No error (E)

1. A

2. B

3. C

4. D

5. No error 
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The scientists were found (A)/ the direction of polar (B)/ drift 

shifted from southward (C)/ to eastward in 1995.(D)/ No error (E)

1. A

2. B

3. C

4. D

5. No error 
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THANK 
YOU
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